
17.  What is the oxidation half reaction in the following chemical reaction? 
14H+ + Cr2O7

2- + 6Cl-  7H2O + 2Cr3+ + 3Cl2 
(A) Cr2O7

2-(aq) + 14H+(aq) + 6e-  2Cr3+(aq) + 7H2O(l) 
(B) Cr2O7

2-(aq) + 14H+(aq)  2Cr3+(aq) + 7H2O(l) + 6e- 
(C) 2Cl-(aq)  Cl2(aq) + 2e- 
(D) 2Cl-(aq)  Cl2(aq) + 2e- 
 
ANS: (A) 

命中出處普化第四回 p.8 

 
 

 
 

  



2. What group of elements does the shaded are in the following periodic table 
indicate?  (A) gases (B) metals (C) nonmetals (D) semimetals 

ANS: (D) 

命中出處普化第一回 p.15～P17 

p.15 

p.16 

Notes: B, Si, Ge, As, Sb, Te, Po 為半金屬 semimetals or metalloids(準金屬 or 類

金屬), 某些新教材亦列 At 為半金屬(Zumdahl 普化) 



p.17 

Gases : N, O, F, Cl, H, He, Ne, Ar, Kr, Xe, Rn, Uuo 
Liquids: Br, Hg, Uub 熔點近室溫者: Cs, Fr, Ga “可熔你手, 不熔你口喔” 
 
 


